Path A Microwave Calculations - 6GHz.xls

FSL = Free Space Loss in decibels (dB)
FSL=966+20logD +20log F
Site Names

D = Distance in Miles

F= Frequency in GHz 85
FSL (dB) ========= 1284 -128.619"

Receive Signal Level
The Receive Signal Level (RSL) is the expected strength of a signal when it reaches the

receiving radio. The following formula defines the Receive Signal Level:
Po - Letx + Gatx - Lerx + Garx - FSL =RSL

where Py is the output power of the transmitter (in dBm)

Lt s the cable loss between the transmitter and its antenna (in dB)

G, 1s the gain of the transmitter's antenna (in dBi)

L 18 the cable loss between the receiver and its antenna (in dB)
G, is the gain of the receiver's antenna (in dBi)

FSL is free space loss (in dB)
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Path A Microwave Calculations - 11GHz.xls

FSL = Free Space Loss in decibels (dB)
FSL=96.6+20logD +20logF

Site Names

D = Distance in Miles

F= Frequency in GHz

FSL (dB) P

Receive Signal Level
The Receive Signal Level (RSL) is the expected strength of a signal when it reaches the
receiving radio. The following formula defines the Receive Signal Level:

Po - Letx + Gatx - Lerx + Garx - FSL = RSL

where Py, is the output power of the fransmitier (in dBm)

L. 1s the cable loss between the transmitter and its antenna (in dB)

(3, 15 the gain of the transmitter's antenna (in dBi)

L. is the cable loss between the receiver and its antenna (in dB)

(. 18 the gain of the receiver's antenna (in dBi)

FSI. is free space loss (in dB)

loss/100" Length/Size loss/100" Length/Size
Fo
Letx 3.68 155
Gatx 6
Lerx - 368 105
Garx 6
Rx = Recelver Sensmwty Threshold in dBm BER 10
Rx
Fade Margin{Mf) = Receiver Sensitivity Threshold ( {Rx} - Total Losses (L)
MFf = Rx- Lt
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Path A Microwave Calculations - 18GHz.xls

FSL = Free Space Loss in decibels (dB)
FSL=966+20logD+201logF
Site Names
D = Distance in Miles
F= Frequency in GHz
FSL (dB)

Receive Signal Level

The Receive Signal L.evel (RSL) is the expected strength of a signal when it reaches the
receiving radio. The following formula defines the Receive Signal Level:

Po - Letx + Gatx - Lerx + Garx - FSL = RSL

where Py is the output power of the transmitter (in dBm)

L. 1s the cable loss between the transmitter and its antenna (in dB)

G, 15 the gain of the transmitter's antenna (in dBi)

L. is the cable loss between the receiver and its antenna (in dB)

G, 1s the gain of the receiver's antenna (in dBi)

FSL is free space loss (in dB)
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